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1Q
2c We read one or more accents in L differently than BHS. Often this notation indicates a typo-

graphical error in BHS.
3n Marks an anomalous form.
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4+ ”strong=”8179|�/����������/��� x-morph=”OSHM:HNcmpc/Sp3ms” x-
cantillationLevel=”0.1.1”
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5U
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”strong=”1696|�������� x-morph=”OSHM:HVpp3ms”
x-cantillationLevel=”0”� 19 ”strong=”c/3423|���������/��
x-morph=”OSHM:HC/Vqq3cp” ”strong=”d/5045|�������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.2.1.0”
”strong=”853|��� x-morph=”OSHM:HTo”�����|strong=”2022”
x-morph=”OSHM:HNcmsc” ”strong=”6215|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.1”
”strong=”c/d/8219|����������/��/��
x-morph=”OSHM:HC/Td/Ncfsa” x-cantillationLevel=”1.2.0”
”strong=”853|��� x-morph=”OSHM:HTo”���������������|strong=”6430”
x-morph=”OSHM:HNgmpa” x-cantillationLevel=”1.2”
”strong=”c/3423|���������/�� x-
morph=”OSHM:HC/Vqq3cp” x-cantillationLevel=”1.1.0”
”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”7704
b” x-morph=”OSHM:HNcmsc” ”strong=”669|����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”c/853|����/�� x-morph=”OSHM:HC/To”
x-cantillationLevel=”1.0” strong=”7704|�������

b” x-morph=”OSHM:HNcmsc” ”strong=”8111|����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”c/1144|����������/��
x-morph=”OSHM:HC/Np” x-cantillationLevel=”0.0”
”strong=”853|��� x-morph=”OSHM:HTo”���������/���|strong=”d/1568”
x-morph=”OSHM:HTd/Np” x-cantillationLevel=”0”�
20 ”strong=”c/1546|������/�� x-morph=”OSHM:HC/Ncfsc”
”strong=”d/2426|���/��� x-morph=”OSHM:HTd/Ncmsa”����/����|strong=”d/2088”
x-morph=”OSHM:HTd/Pdxms” x-cantillationLevel=”1.1.0.0”
strong=”l/1121|������/�� a” x-morph=”OSHM:HR/Ncmpc”
”strong=”3478|����������� x-morph=”OSHM:HNp”
strong=”834|������� a” x-morph=”OSHM:HTr”�������������|strong=”3669
a” x-morph=”OSHM:HNgmpa” x-cantillationLevel=”1.1.0”
”strong=”5704|��� x-morph=”OSHM:HR”����������|strong=”6886”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”c/1546|������/�� x-morph=”OSHM:HC/Ncfsc”
”strong=”3389|������������� x-
morph=”OSHM:HNp” x-cantillationLevel=”1.0”
strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”b/5614|��������/��� x-
morph=”OSHM:HR/Np” x-cantillationLevel=”1”
”strong=”3423|���������� x-morph=”OSHM:HVqi3mp”
x-cantillationLevel=”0.1” ”strong=”853|����
x-morph=”OSHM:HTo” x-cantillationLevel=”0.0”
strong=”5892|������ b” x-morph=”OSHM:HNcfpc”
”strong=”d/5045|�������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0”� 21 ”strong=”c/5927|������/��
x-morph=”OSHM:HC/Vqq3cp” ”strong=”3467|������������
x-morph=”OSHM:HVhrmpa” x-cantillationLevel=”1.1.0”
”strong=”b/2022|����/��� x-morph=”OSHM:HR/Ncmsc”
”strong=”6726|�������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1” ”strong=”l/8199|��������/��
x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”1.0”
”strong=”853|��� x-morph=”OSHM:HTo”�����|strong=”2022”
x-morph=”OSHM:HNcmsc” ”strong=”6215|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”c/1961|��������/�� x-morph=”OSHM:HC/Vqq3fs”
”strong=”l/3068|������/��� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”0.0” ”strong=”d/4410|����������/��
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”0”�

6C
7c We read one or more accents in L differently than BHS. Often this notation indicates a typo-

graphical error in BHS.


